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Worksheet 

Dimensional Analysis and other stuff…

1. Given that:

[R] = tot

[Q] = hep/tot

[Z] = zot2
Find the dimensionality of k for each.

a) R/Q = kZ





b) Z/Q = kR2
c) kQ2[image: image2.png]


 = R

2. How many times bigger than a centimeter is a Gigameter? __________

3. What is the ratio between a kilometer to a nanometer? _____________

4. In relationship b) in number 1, assuming the first variable is the dependent variable, what is the relationship between

a) Z and R? _________________________________________________

b) Z and Q? _________________________________________________

c) Q and R? _________________________________________________
